
4 3 2 1

B

A

8

B

7 6 5

C

D

8 7 6 5 4 3 2

C

1

D

REVISIONS

BYZONEREV APPROVEDDESCRIPTION DATE

D
W
G
.
 
N
O
.

S
H
T

R
E
V

DRAWING OR
PART NO.

DO NOT SCALE DRAWING

UNLESS OTHERWISE SPECIFIED
ALL DIMENSIONS ARE IN

MILLIMETERS

ITEM
NO.

SIZE SHEET DWG. NO.SCALE

DESIGN

TITLE

DESCRIPTION

PARTS LIST

REV

THIRD ANGLE PROJECTION

PART. NO.

DATE

CHECK DATE

DRAWN DATE

QTY REQ'D MATERIAL SPECIFICATION

METRIC

Pro/E .prt/.asm:

Pro/E .drw:

TOLERANCES ARE:

DECIMALS ANGLES

FRACTIONS

THIS INFORMATION IS CONFIDENTIAL AND PROPRIETARY TO ELO 
TOUCH SOLUTIONS. IT MAY NOT BE DISCLOSED TO ANYONE OTHER
THAN ELO TOUCH SOLUTIONS PERSONNEL WITHOUT AUTHORIZATION
FROM ELO TOUCH SOLUTIONS (www.elotouch.com). 

1 2 EXXXXX XXXX

A -- J.LI INITIAL RELEASE PER CO-19-2082  12/13/19

S
D
6
0
9
3
9
7

1
 
O
F
 
3

A

E244791  J.LI 12/13/19

FILES, MECH, 3D, 

BRKT SELF-SERVICE,

WIN2.0 J.HALLER 12/13/19

15-22_PS_MOUNT_C-WIN2 .PRT

SD609397.DRW D 0.500 1 OF 3 SD609397 A

E244791 KIT-BRKT-SELF-SERVICE-15-22-WIN-2.0

15-22_PS_EDGE_BRACKET_22WIN2
PLACE IN BAG LABELED "22 W2"
QTY. 1 PER KIT

SCREW TYPE QTY. BAG LABEL

SCREW, M4X18, PAN-HEAD, 
CROSS-RECESS, BLACK OR ZINC

 
4 M

SCREW, M4X12, PAN-HEAD, 
CROSS-RECESS, BLACK OR ZINC

4 N

15-22_PS_EDGE_BRACKET_15WIN2
PLACE IN BAG LABELED "15 W2"
QTY. 1 PER KIT

SCREWS IN LABELED BAGS:

5-22_PS_MOUNT_C1-WIN2.ASM

15-22_PS_HINGE_ROD

E-RING_4MM

15-22_PS_MOUNT_C2-WIN2.ASM

15-22_PS_MOUNT_C2_COVER

SCREW, M4X8, FLAT-HEAD,
CROSS-RECESS, BLACK,
X2

SCREW, M4X5L, PAN-HEAD,
CROSS-RECESS, BLACK,
X2



215

205.5

20

7.5

1.5

15
120.17

7.35

15-22_PS_C_PROP_WIN2
MATERIAL: SPCC/T=1.5mm
FINISH = BLACK PAINT, LIGHT TEXTURE

15-22_PS_MOUNT_C1-WIN2.ASM
MATERIAL: SPCC/T=2.0mm
FINISH = BLACK PAINT, LIGHT TEXTURE

REV A
 
PAGE 2 OF 3

M4

RIVET 15-22_PS_C_PROP-WIN2
AND 15-22_PS_MOUNT_C1-WIN2
(AFTER PAINTING).

RIVET FLUSH
THIS SIDE



220.5

208.5

22.55

0.8

79

35.6

49

117.6
117.6

55.4
11 11

15-22_PS_MOUNT_C2-WIN2_DOOR
MATERIAL: SPCC/T=0.8mm

REV A
 
PAGE 3 OF 3

15-22_PS_MOUNT_C2-WIN2_DOOR
WELDING TO 15-22_PS_MOUNT_C2-WIN2
BEFORE PAINTING

M4

15-22_PS_EDGE_BRACKET_22WIN2
MATERIAL: SPCC/T=1.5mm
FINISH = BLACK PAINT, LIGHT TEXTURE

15-22_PS_MOUNT_C2-WIN2.ASM
MATERIAL: SPCC/T=2.0mm
FINISH = BLACK PAINT, LIGHT TEXTURE

15-22_PS_EDGE_BRACKET_15WIN2
MATERIAL: SPCC/T=1.5mm
FINISH = BLACK PAINT, LIGHT TEXTURE

STAND-OFF M4X4.5L
X4

M4

M4

MARK LETTERS
AS SHOWN,

X6

M4


	Sheet 1
	Views
	new_view_463
	new_view_465
	new_view_466


	Sheet 2
	Views
	new_view_467
	右_468
	右_469
	底部_470
	new_view_471
	new_view_485
	bottom_486
	right_487
	new_view_488


	Sheet 3
	Views
	new_view_472
	右_473
	底部_474
	右_475
	new_view_476
	右_477
	右_478
	new_view_479
	右_480
	底部_481
	new_view_482
	右_483
	底部_484



